# Logarithms Chapter Notes Assignment List

| Date | Lesson   | Assignment   |
|------|--|--|
|      | <ol> <li>Graphing Logarithmic<br/>Functions</li> </ol> | Mickelson Page 213 #6, 7, 8, 9   |
|      | 2. Logarithms  | Mickelson Page 211 #1-4 (left side), 5, 13   |
|      | 3. Log Laws  | Mickelson Page 221 #1-3 (left side)  |
|      | 4. Simplifying Logarithms                              | Mickelson Page 222 #4-5 (left side) &<br>Mickelson Page 228 #2a-d<br>Extension: Page 228 #2e-i |
|      | 5. Solving Equations I                                 | Mickelson Page 227 #1, 4   |
|      | 6. Solving Equations II                                | Mickelson Page 229 #3, 5, 7  |
|      | 7. Applications  | Mickelson Page 236 #1-11   |
|      |  | Practice Test  |
|      |  | Review   |
|      |  | Logarithms Test  |

# **Logarithms Day 1: Graphing Logarithmic Functions**

#### Graphing the Inverse of an Exponential Function

(Switch x and y) Use the key points for the Exponential function to determine the key points and graph for its inverse:



raised in order to get that number (x)

So for the inverse graph above,  $x = 2^{\frac{y}{y}}$  can be written as  $y = \log_2 x$ 

#### **Transformations of Logarithms**

A logarithm, like any other function, can be transformed using the principles associated with transforming a function. The transformation will always be in relation to the basic graph,  $y = \log_b x$  which has the following key points and basic shape:

 $y = \log_b x$ 

Key Points:

 $(\frac{1}{b}, -1)$ (1,0) (b,1) VA x=0





ν4 7=2

# Example 2: Sketch the function $y = \log_2(2-x) + 1 + rearrange \quad \text{into} \quad y = df \left[ b(x-h) \right] + k$ $basic graph: \qquad y = \log_2 \left[ -(x-2) \right] + l$

Assignment: p. 213 #6, 7, 8, 9

# Logarithms Day 2: Logarithms

#### Recall:

The inverse of an exponential function is another function called a **logarithm.** 



Greek:

11 11

Formal Definition: A logarithm of a number is the exponent (y) to which a fixed value (b) must be raised in order to get that number (x)

Example 1: Change from exponential to logarithmic form

i)  $3^{3} = 27$  $10^{4} = 10000$  4 = 10000 4 = 10000

Note: when it's base 10, we don't always write the base!  

$$T(yP_{x+1-2}^{21})$$
Example 2: Determine the numerical value  
i) log1000 = y  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 1000  
10' = 10' = 1000  
10' = 10' = 1000  
10' = 10' = 1000  
10' = 10' = 10' = 1000  
10' = 10' =

#### **Logarithmic Domains**

Since the inverse of an exponential function is a logarithmic function, the domain of a logarithmic function is the range of the corresponding exponential function.

$$y = \log_{b} x$$
 { $x \in R[x] > 0$ } Remember, the base is:  $b > 0, b \neq 1$ 

**Example 3:** Determine the domain of the following:



#### **Inverse Log Functions**

Finding the inverse of a log function always refers to the relationship between logarithms and exponential functions.

$$\log_b x = y \quad \Leftrightarrow \quad b^y = x$$

Steps to find the inverse:

- 1. Reverse  $x \leftrightarrow y$
- 2. Isolate the power or the logarithm
- 3. Switch: exponential form  $\leftrightarrow$  log form
- 4. Solve for y

Example 4: Determine the inverse of the following

i) 
$$f(x) = 6^{3x+2} - 4$$
  
 $y = 6^{3x+2} - 4$   
inv:  $x = 6^{3y+2} - 4$   
isolate  
 $x + 4 = 6^{3y+2}$   
 $y = 109_6(2y-5)$  (log already  
inv:  $x - 3 = 109_6(2y-5)$  (log already  
inv:  $x - 3 = 109_6(2y-5)$  (log already  
 $x - 3 = 2y = 5$   
 $y = 109_6(x+4) = 3y+2$   
 $y = 109_6(x+4) = 3y+2$   
Solve for  $y = 109_6(x+4) - 2$   
 $y = 100_6(x+4) - 2$   
 $y = 100_6(x+4)$ 

### Logarithms

# Day 3: Log Laws

A logarithm is just the <u>injecte</u> of an exponential function.

Just like there are established and proven rules for exponents, there are established and provable rules for logarithms.

#### Rules for Logarithms (The Log Laws)

 $\log_b 1 = 0$   $b^\circ = 1$ 

**Product Rule:**  $\log_b xy = \log_b x + \log_b y$ 

$$a = \log_{b} x \qquad xy = b^{a} \cdot b^{c}$$

$$x = b^{a} \qquad xy = b^{a+c}$$

$$c = \log_{b} y \qquad \log_{b} xy = a + c$$

$$y = b^{c} \qquad \log_{b} xy = \log_{b} x + \log_{b} y$$

Quotient Rule: 
$$\log_{b} \frac{1}{y} = \log_{b} x - \log_{b} y$$
  
 $\alpha = \log_{b} \chi$   
 $\chi = b^{\alpha}$   
 $\chi = b^{\alpha}$   
 $\zeta = \log_{b} \chi$   
 $\gamma = b^{\alpha}$   
 $\log_{b} \frac{1}{y} = b^{\alpha}$   
 $\log_{b} \frac{1}{y} = \log_{b} \chi - \log_{b} y$   
Power Rule:  $\log_{b} x^{n} = n \cdot \log_{b} x$   
 $\alpha = \log_{b} \chi$   
 $(b^{\alpha})^{n} = \chi^{n}$   
 $\chi = b^{\alpha}$   
 $b^{\alpha n} = \chi^{n}$   
 $\alpha n = \log_{b} \chi^{n}$   
 $n \log_{b} \chi = \log_{b} \chi^{n}$   
 $n \log_{b} \chi = \log_{b} \chi^{n}$   
Change of Base:  $\log_{b} a = \frac{\log_{c} a}{\log_{c} b}$   
 $\sqrt{2} + \log_{b} \alpha$   
 $\log_{a} \chi = y \log_{\pi} b$   
 $\log_{a} \chi = \frac{\log_{\pi} \alpha}{\log_{\pi} b}$   
 $\log_{b} \alpha = \frac{\log_{\pi} \alpha}{\log_{\pi} b}$ 

 $\log_b b = 1$ b' = b

Note: b > 0,  $b \neq 1$ 

· logbbx = x •  $b^{109.x} = X$ 

**Example:** Simplify  $\log_2 5 + \log_2 7$ 



**Example:** Simplify  $\log_2 24 - \log_2 8$ 



Example: Simplify  $\log_2 16$  $\log_2 2^4$  $4 \log_2 2$ 4 (1)4

**Example:** Find log<sub>3</sub> 7 to 3 decimal places

$$log_{3}7 = log_{7}7$$
  
 $log_{3}$   
 $= 1.771$ 

**Example 1:** Write log  $\frac{25}{9}$  in terms

of log 3 and log 5



**Example 3:** Find the exact value of  $\log_4 64^3$ 



**Example 2:** Find the exact value of



**Example 4:** Find the exact value of  $\log_{\frac{1}{4}} \frac{16^3}{2^{-3}}$ 



**Example 5:** Expand the following  $\log_7 x^2 y \sqrt[3]{z}$ 109, 2 + 109, y + 109, 3/2 210g, 2+ log, y+ log, Z/3 2 log, x + log, y+ 1/3 log, Z

Assignment p. 221 #1-3 (left Side)

# Logarithms

Day 4: Simplifying Logarithms

#### Simplifying Logarithmic Functions:

- 1. Understand rules #1-6 from yesterday.
- 2. Do not make up your own rules for logarithms. Common mistakes:

 $log(A+B) \neq log A + log B$   $\frac{log a}{log b} \neq log a - log b$   $(log x)^2 \neq 2 log z$ 

3. Know how to change from exponential form to logarithmic form, and vice versa.

$$y = log_b x \quad \Leftrightarrow \quad b^y = x$$

4. Look for exponential/power relationships between b and x in  $\log_b x$ .

Example 1: Simplify  $3\log_2 x - 2\log_2 3$   $\log_2 x^3 - \log_2 3^2$   $\log_2 \frac{x^3}{2} - \log_2 3^2$   $\log_2 \frac{x^3}{2} - \log_2 3^2$   $= 5^2$ = 25

Example 3: Simplify 
$$\frac{\log x^4 + \log x^5}{\log x^7 - \log x^4}$$
  
 $\frac{\log x^4 \cdot x^5}{\log x^4}$   
 $\frac{\log x^4 \cdot x^5}{\log x^4}$   
 $\frac{\log x^4 \cdot x^5}{\log x^4}$   
 $\log (3^2 x^4)^{3/2} - \log y^2$   
 $\log (3^2 x^4)^{3/2} - \log y^2$   
 $\log 3^3 x^4 - \log y^2$   
 $\log 3^3 x^4 - \log y^2$   
 $\log 3^3 x^6 - \log y^2$   
 $\log 3^3 x^$ 

Example 5: Simplify 
$$\frac{1}{\log_{a} x} - \frac{1}{\log_{b} x}$$
  
 $\frac{\log_{a} \alpha}{\log_{a} x} - \frac{\log_{b} b}{\log_{b} x}$   
 $\log_{a} \alpha - \log_{b} b$   
 $= \frac{\log_{a} \log_{b} 0}{\log_{a} 3}$   
 $\log_{a} 0 (\log_{a} 9)$   
 $\log_{a} 3$   
 $\log_{b} 3$   

**Example 7:** If  $a = \log 5$  and  $b = \log 3$ , what is  $\log_3 45$  in terms of a and b?

$$109_{3} 45 = \frac{\log (45)}{\log (3)}$$
  
=  $\frac{\log (9.5)}{\log 3}$ 
  
=  $\frac{\log (9.5)}{\log 3}$ 
  
=  $\frac{\log (3^{2}.5)}{\log (3)}$ 
  
=  $\frac{\log 3^{2} + \log 5}{\log 3}$ 
  
=  $\frac{2 \log 3 + \log 5}{\log 3}$ 
  
=  $\frac{2 \log 3 + \log 5}{\log 3}$ 
  
=  $\frac{2b + a}{b}$ 

Assignment p. 222 #4, 5 and p. 228 #2a-d (Extension: p. 228 #2e-i)

(left side)

# Logarithms

Using the rules we have established for logarithmic functions, we can now start to solve logarithmic equations. Remember, an equation has an equal sign, so you can "find x".

Be careful of logarithmic equations, though: the solutions must be a part of the domain of that function.

$$y = \log_b x$$
 Note:  $b > 0, b \neq 1, x > 0$ 

#### Steps for Solving Logarithmic Equations:

| If NO constant exists in the equation                          | If a constant exists in the equation                  |
|--|---|
| 1. Combine logs on each side into single logs with a           | 1. Bring all the logs to one side and combine into a  |
| common base.   | single log. The constant(s) are on the other side of  |
|  | the equation.   |
| Aim for: single log = single log                               | Aim for: single log = constant                        |
| 2. Compare the insides of the logs using the rule              | 2. Rewrite in exponential form using                  |
| $\log_b x = \log_b y  \Leftrightarrow  x = y$                  | $\log_b x = y \iff b^y = x$                           |
| 3. Solve the resulting equation for the unknown                | 3. Solve the resulting equation for the unknown       |
| variable.  | variable.   |
| 4. Reject any extraneous root(s) using:                        | 4. Reject any extraneous root(s) using:               |
| $y = \log_b x$ ; $b > 0$ , $b \neq 1$ and $x > 0$              | $y = \log_b x$ ; $b > 0$ , $b \neq 1$ and $x > 0$     |
| <b>Example 1:</b> Solve for x: $\log_9(x-5) = 1 - \log_9(x-5)$ | (x+3) Constant in eq'n -I                             |
| 1 logg(x-5) + logg(x+  | 3)=1 p>:. x=6, x=-4                                   |
| loga [(x-5)(x+3)   | ]=1 (4) Check:  |
| (2) $q' = (x-5)(x-5)(x-5)(x-5)(x-5)(x-5)(x-5)(x-5)$            | +3) [X=6] Out At                                      |
|  | 5x-15 log(perturne)                                   |
| $0 = \chi^2 - 2\chi -$   | 24  |
| O = (x - b)(x)   | (+4)  |
| <b>Example 2:</b> Solve for x: $\log_3(x-2) + \log_3 10$       | $= \log_3(x^2 + 3x - 10)  [no constant]$              |
| () $\log_3[(x-2) \cdot 10] =$                                  | $\log_3(x^2+3x-10)$                                   |
| (2) $10(x-2) = 3$  | x <sup>2</sup> +3x-10 (H) 5 checksons<br>but 2 causes |
| $\int 10 \times -20 = 1$                                       | $x^{2}+3x-10$ $10(2-2)$                               |
| $(\mathbf{S})$   | 2-7×+10 10×10)  |
| 0 = 0  | (x-5)(x-2) indefined                                  |
| $\chi = \epsilon$  | 5, X×2 [X=5]  |

| If you can change to the same base           | If you CANNOT change to the same base                 |  |
|--|---|--|
| (we did this earlier in the chapter!)        |   |  |
| <b>e.g.</b> $9^{x+2} = 3^{x-1}$              | <b>e.g.</b> $5^{x+2} = 2 \cdot 3^{2x-1}$              |  |
| 1. Change all powers to the same base        | 1. Simplify if possible, then take the log of both    |  |
|  | sides (base 10)                                       |  |
|  |   |  |
| 2. Simplify into a single power on each side | 2. Use log laws to move exponents in front of each    |  |
| Aim for: single power = single power         | log.  |  |
| 3. Compare exponents using the rule          | 3. Expand out the logarithms; move logs containing    |  |
| $b^x = b^y  \Leftrightarrow  x = y$          | variables to one side, and logs without variables to  |  |
|  | the other.  |  |
|  |   |  |
| 4. Solve the resulting equation.             | 4. Isolate and solve for the unknown (usually by      |  |
|  | factoring out the variable). Simplify to a single log |  |
|  | if possible.  |  |
|  | 5. Determine a numerical value of the single log (if  |  |
|  | possible)   |  |
| Cartest some base.                           |   |  |

Example 3: Solve for x: 
$$5^{x+2} = 2 \cdot 3^{2x-1}$$
  
()  $|09(5^{x+2})| = |09(2 \cdot 3^{2x-1})$   
()  $(x+2) |095 = |092 + |093^{2x-1}|$   
()  $(x+2) |095 = |092 + (2x-1)|093$   
(3)  $\chi log 5 + 2 log 5 = log 2 + 2x log 3 - log 3$   
 $\chi log 5 - 2x log 3 = log 2 - log 3 - 2 log 5$   
()  $\chi (log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
 $\chi = (log 2 - log 3 - 2 log 5)$   
( $log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3) = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3)$ ,  $v = (log 2 - log 3 - 2 log 5)$   
( $log 5 - 2 log 3)$ ,  $v = (log 2 - log 3 - 2 log 5)$   
( $log 5 - 2 log 3)$ ,  $v = (log 2 - log 3 - 2 log 5)$   
( $log 5 - 2 log 3)$ ,  $v = log 2 - log 3$   
( $log 5 - 2 log 3)$ ,  $v = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3)$ ,  $v = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3)$ ,  $v = log 2 - log 3 - 2 log 5$   
( $log 5 - 2 log 3$ ),  $v = log 2 - log 3$   
( $log 5 - 2 log 3$ ),  $v = log 2 - log 3$   
( $log 5 - 2 log 3$ ),  $v = log 2$ 

Assignment: pg 227 # 1,4

# Logs Day 6: Solving Equations I

#### Solving Log Equations: with a twist

#### Expressing equations in terms of stated or defined variables

Sometimes we have a question that only contains variables and we need to solve the logarithmic equation in terms of the stated variables. This is just a slight variation on what we have already looked at, just with no numbers.  $Q_{1} \sim f_{2}$ 

**Example 4:** Solve for A in terms of B and C:  $2\log A - 3\log B = 2\log C$ 

$$\log A^{2} - \log B^{3} = \log C^{2}$$

$$\log \left(\frac{A^{2}}{B^{3}}\right) = \log (C^{2})$$

$$\frac{A^{2}}{B^{3}} = C^{2}$$

$$\frac{A^{2}}{B^{3}} = C^{2}$$

$$A^{2} = B^{3}C^{2}$$

$$A = B^{3/2}C$$

"Single log = sigle log

Solving Log Equations when the bases don't match (Change base) Example  $\frac{2}{3}$ : Solve for x:  $3\log_9 x + \log_3 x = 5$   $3\left(\frac{\log_3 x}{\log_3 9}\right) + \log_3 x = 5$   $3\left(\frac{\log_3 x}{\log_3 9}\right) + \log_3 x = 5$   $3\left(\frac{\log_3 3}{\log_3 (x)}\right) + \log_3 (x) = 5$   $\log_3 (x) = 10$   $3\log_3 (x) + \log_3 (x) = 10$   $3\log_3 (x) + \log_3 (x) = 10$   $5\log_3 (x) = 10$  $\log_3 x = 2$ 

Z change of base. Get x out of base! **Example**  $\beta$ : Solve for x:  $3\log_8 x - 2\log_x 8 = -5$ 310g 8 x - 2 (10g 8 8)= -5  $3 \log_8 \chi - \frac{2}{\log_8 \chi} = -5$ Need to "clear fractions" but ensy to get Confused. 3a - 2 = -5 Let a=1098× 3a2 = 2 = -5a now clear fractions. 3a2+5a - 2= 0 (2a-1)(a+2)=0a= 1 a= - 2  $\log_{8} \chi = \frac{1}{3}$   $\log_{8} \chi = -2$ Replace back for a=1098X 8-2 = X  $8''_3 = X$  $2 = \chi$   $\frac{1}{64} = \chi$ check: ~

gala in .

Assignment; p. 229 #3, 5, 7

# **Logarithms Day 7: Applications**

Using the rules we have established for exponential and logarithmic functions, we can now start to apply these to real life situations.

#### **Recall from previous chapter:**



Just like there is a log button on your calculator, you will also be able to find a ln button.

**Example 1:** Eric inherits \$10 000 and invests it in a guaranteed investment certificate (GIC) at 6 %. How long will it take to be worth \$15 000 it is compounded a) monthly b) continuously?

| F=15000   F= Iert 0.06t   |
|---|
| $I = 10000   15000 = 10000 (e)$ $r = 0.06   10000 = 10000 (e)$ $1.5 = e^{0.06t}$ $I_{0.06}   1.5 = 0.06t$ $I_{0.06}   0.06t$ $6.757 = t$ $6.76 = t$ |
|   |

**Example 2:** A major earthquake of magnitude 8.3 is 120 times as intense as a minor earthquake. Determine the magnitude, to the nearest tenth, of the minor earthquake.  $(Rewrite as log_{10})$ 



**Example 3:** The half-lipe of carbon-14 is 5730 years. A bone sample is found to have 49.5% of the C-14 remaining. Determine the age of the bone.

$$F = I(r)^{4\rho} \qquad F = I(r)^{4\rho$$

**Example 4:** The population of a fish in a lake is increasing at a rate of 3.5% per year. How long will it take the fish population to double?

$$F = Ie^{rt}$$

$$F = 2 \int doubles''$$

$$I = 1 \int doubles''$$

$$T = 0.035$$

$$t = ?$$
Assignment: p. 236 #1-11
$$2 = 1 \cdot e^{0.035 t}$$

$$2 = e^{0.035 t}$$

$$1 = 2 \cdot e^{0.035 t}$$